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SECTION A — (10 × 1 = 10 marks)
Answer any TEN questions.
1. What are the components of LP model?
2. Define basic feasible solution.
3. What is unbounded solution in LPP?
4. Define Minimax criterion.
5. Define payoff.
6. Define the term decision in decision making problem.
7. What is EMV?
8. Define EOL.
9. What is Two-person zero sum game?
10. Solve the following game.
11. What is ‘no passing’ rule in a sequencing algorithm?
12. Define Sequencing problem.

SECTION B — (5 × 4 = 20 marks)
Answer any FIVE questions.
13. Define Slack and Surplus variables in LPP.
14. Mention the different decision making environments.
15. Explain EVPI.
16. Solve the following game whose payoff matrix is given by:
                  Player B
Player A.
17. Explain the four elements that characterize a sequence problem.
18. In a factory, there are six jobs to perform, each of which should go through two machines A and B in the order A, B. The processing timings (in hours) for the jobs are given below. Determine the sequence for performing the jobs that would minimize the total elapsed time.
Job              :     J1     J2     J3     J4     J5      J6
Machine  A :     1      3       8      5       6        3
Machine  B :      5      6       3      2       2       10
19. Write short notes on decision tree analysis.
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SECTION C — (3 × 10 = 30 marks)
Answer any THREE questions.
20. Solve the following problem graphically
                                      Max Z = 4X1+3X2
Sub to  2X1+X2 1000
             X1+X2  800
             X1400 and    X2700
             X1 0 and  X2 0
21. Explain the different criterions for making decisions under uncertainty.
22. A wholesaler of sports goods has an opportunity to buy 5,000 pairs of skiis that have been declared surplus by the government. The wholesaler will pay Rs.50 per pair and can obtain Rs.100 a pair by selling skiis to retailer. The price is well established, but the wholesaler is in doubt as to just how many pairs he will be able to sell. Any skiis left over, he can sell to discount outlets at Rs.20 a pair. After careful consideration of historical data the wholesaler assigns the probabilities to the demand as follows:
                Retailer’s demand                probability
                   1000 pairs                                 0.6
                   3000 pairs                                 0.3
                   5000 pairs                                 0.1
a) Compute the expected profit with a perfect information.
b) Compute the EVPI.
23. Obtain the optimal strategies for both persons and the value of the game for zero-sum two-person game whose payoff matrix is as follows:
1 -3
                 3     5
                -1     6
                 4     1  
                 2     2
                -5     0
24. Solve the following sequencing problem when passing out is not allowed:
	
Item
	Machine  (processing time in hours)
         A                          B                          C                        D

	I
	15
	5
	4
	15

	II
	12
	2
	10
	12

	III
	16
	3
	5
	16

	IV
	17
	3
	4
	17
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